				T							
1						ATHLETICS					
2					1	ATHLETICS - BASEBA	<u>LL</u>				
3	Baseballs Pro, NFHS Game B	Ball, 12/0	CS, Diamon	d					Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	BSN Sports, LLC	18	DOZEN	\$72.26	\$1,300.68		Diamond		1453926	12	Yes
4	Diamond D-1 Pro Baseballs, l	Profession	onal, NFHS						Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	BSN Sports, LLC	25	DOZEN	\$94.80	\$2,370.00				1453923	12	Yes
5	Baseballs, NFHS, Wilson A10)10ML ((ONLY)	l					Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	12	DOZEN	\$62.95	\$755.40	**A1010ML DISCONTINUED**	Wilson A1010ML (ONLY)		WILSON #A1010BHS1S ST	12	No
6	Baseball-Safety Ball Official	Size, Dia	amond 1005						Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	Laux Sporting Goods (Laux Sports LLC)	4	DOZEN	\$46.75	\$187.00		Diamond 1005001		Flexiball 9" (DZ) DFX9L	12	No

7	Soft Touch Incrediball Baseb	all, 9 Ny	vlon Cloth C	overed w/F	Polv Core, Eas	ton			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	S&S Worldwide	5	DOZEN	\$53.16	\$265.80		Easton		W3058	12	Yes
8	Spalding Pro Series Baseball	, Leathe	r cover, cusl		enter, raised s	eams, Dozen			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	UIIII Daigo	Extended	Description	Manufacturer	Manufacturer #			
	Laux Sporting Goods (Laux Sports LLC)	55	DOZEN	\$73.44	\$4,039.20				41100HS	12	Yes
9	Jugs Lite-Flite Baseballs, Spo	onge Lik	e Texture, 1	159240		I	1		Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	BSN Sports, LLC	2	DOZEN	\$37.65	\$75.30		1159240		1159240	12	Yes
10	Baseball Size Whiffle Ball, B	SN 1033	601			<u> </u>			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	S&S Worldwide	7	DOZEN	\$10.79	\$75.53		BSN 1033601		W14655 Spectrum	12	Yes
11	Yellow Dimpled Baseball, Ye	llow Dir	npled Pitchi	ng Machin	e Baseball, M	acgregor MCBDBYEL			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	BSN Sports, LLC	9	DOZEN	\$22.69	\$204.21		Macgregor MCBDBYEL		MCBDBYEL	12	Yes
12	Pro Nine PRO Professional I	eague B	Salls, Dozen						Vendor Item Number	Unit Pack Size	As Specified

	C	QTY	UOM	Unit	Extended	Supplier Notes / Alternate Description	Manuscatura	Manufacturer #			
	Supplier Laux Sporting Goods (Laux	QIY	UOM	Price		Description	Manufacturer	Manufacturer #			
	Sports LLC)	3	DOZEN	\$69.48	\$208.44				PRO NFHS	12	Yes
13	Ball Bucket, with 3 Doz Base	balls							Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	6	SET	\$107.95	\$647.70				CHAMPION #BUC6 & OLBXX	1	Yes
	Rawlings Pro Style Coolflo B (6 5/8 - 6 3/4), Assorted colors			Rawlings	AE Approved,	Sizes: L (7 1/8 - 7 1/4), XXL (7 5/	8 - 7 7/8), XL (7 3/8 - 7 1	1/2), M (6 7/8 - 7), S	Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	10	EACH	\$24.90	\$249.00				14	1	Yes
15	Basic Batting Tee, Each								Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	S&S Worldwide	10	EACH	\$16.79	\$167.90				w13028 Champro	1	Yes
16	Bat - Adult Wood Fungo, Eac	ch							Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	3	EACH	\$28.50	\$85.50				LOUISVILLE #WTLWBFN1 00-NA36	1	Yes

17	Baseball Bat, Adult, 33/30 oz	Easton	Reflex, Barr	el Diameto	er 2 5/8, Easto	n			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	1	ЕАСН	\$65.00	\$65.00	**-3 REFLEX DISCONTINUED**	Easton		EASTON SPEED #A11211633	1	No
18	Fungo Bat #K100, L Slugger	All Pur	pose, 36 24.5	oz, 10160	01			'	Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	3	ЕАСН	\$28.50	\$85.50		1016001		LOUISVILLE #WTLWRFN1 00-NA36	1	Yes
19	Men's Easton Stealth Catche	rs Helm	et, Must have	e NOCSA	E Seal		<u> </u>		Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	5	EACH	\$88.00	\$440.00	*COLORS- BLACK, RED, NAVY, ROYAL***STEALTH DISCONTINUED**			EASTON GAMETIME #A165404	1	No
20	Catchers Equipment Bag, He	eavy Dut	y Travel Bag	g, Nylon Z	ipper w/wrap-	around handles and lea-ther on end			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	6	EACH	\$26.00	\$156.00				EASTON #A159009BK	1	Yes

21	Chest Protectors - Men's Yo	uth - All	Colors, Adj	ustable Att	achment for (Custom Fit			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	4	ЕАСН	\$47.50	\$190.00	**COLORS- BLACK, RED, NAVY, ROYAL**			EASTON #A165413	1	Yes
22	Chest Protectors - Men's Ad	ult - All	Colors, Adj	ustable Att	achment for C	ustom Fit			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	6	ЕАСН	\$55.30	\$331.80	**COLORS- BLACK, RED, NAVY, ROYAL**			EASTON #A165411	1	Yes
23	Leg Guards - any color, 10 1/	/2 Inject	ion Molded	Shin Piece		1			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	4	EACH	\$53.00	\$212.00	**YOUTHCOLORS- BLACK, RED, NAVY, ROYAL**			EASTON #A165421	1	Yes
24	Knee Supporter Protective G	Sear, Vai	rious colors						Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	6	ЕАСН	\$9.95	\$59.70	**BLACK ONLYSOLD BY THE PAIR ONLY**			CHAMPION #LGKSA	2	Yes

25	Hockey Style Catchers Mask	- Colleg	iate, Meets		AE Standard for Catcher's Helmets, One	Size fits Range of 6 5/8 - 7 1/2		Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	2	EACH	\$49.90	\$99.80 All Star			25	1	Yes
26	Soft Touch Bases - Incumber	bases +	Ground M	ounts, 3 ba	ses per set			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	2	SET	\$424.90	\$849.80			26	3	Yes
27	Belts, Adult 30-46							Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	128	ЕАСН	\$1.99	\$254.72			CHAMPION #UB-(color)	1	Yes
28	Solid Tube Sock, Size 9-12							Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	100	PAIR	\$1.79	\$179.00 Pear Sox			28 (1pair)	1	Yes
	Men's Wide Channel TF1000 Bladder, Spalding	, Exclus	sive ZK Co	mposite Co	ver 2/Superior Grip and Feel, 100% Top	Grade 2-Ply Nylon Windings ar	nd Butyl Rubber	Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended Supplier Notes	Manufacturer	Manufacturer #			
	Laux Sporting Goods (Laux Sports LLC)	61	EACH	\$51.92	\$3,167.12	Spalding		TF1000 LEGACY		Yes

30						ATHLETICS - SOFT	BALL				
31	Jugs 12 Softie Yellow Game	Balls, Ba	5105DZ						Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	8	DOZEN	\$101.00	\$808.00				JUGS #B5105	12	Yes
33	Soft Touch Incrediball Softba	all, 12, E	aston						Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	8	DOZEN	\$69.12	\$552.96		Easton		EASTON #A12260ST	12	Yes
34	Softball Whiffle Balls, 12 Pol	ly Balls,	Dozen	<u>'</u>					Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	12	DOZEN	\$7.20	\$86.40				CHAMPION #PLSB	12	Yes
35	Spalding Dudley SB-12 Fast	Pitch, L	eather cover	, Item 4H-	311Y, Dozen				Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	51	DOZEN	\$66.00	\$3,366.00				DUDLEY #4H- 311Y	. 12	Yes

36	Jugs Pitching Machine Softh	alls		,					Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	[ALT1] BSN Sports, LLC	14	DOZEN	\$28.00	\$392.00	MacGregor Dimpled Pitching Machine Softballs (12")	MacGregor/BSN	BBBDSBALL	BBBDSBALL	12	No
37	Easton Fastpitch Softball Ba	t, 14 Bar	rel, specify	length					Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	2	EACH	\$43.75	\$87.50				EASTON TOPAZ #A113604	1	Yes
										Unit	1
38	Softball Batting Helmet w/M	lounted (Cage w/Chi	in Strap, So	chutt Sports A	.ir Pro - Must have NOSCAE Seal, V:	arious Sizes		Vendor Item Number	Pack Size	As Specified
38	Supplier	QTY	Cage w/Chi	in Strap, So Unit Price	Extended	Supplier Notes / Alternate Description	arious Sizes Manufacturer	Manufacturer #		Pack	
38				Unit	Extended	Supplier Notes / Alternate		Manufacturer #		Pack	
38	Supplier Scholastic Sports Sales	QTY 21	UOM EACH	Unit Price \$39.90	Extended \$837.90	Supplier Notes / Alternate Description Rawlings Pro Pony Tail Batting Helmet- All Co	Manufacturer		Number	Pack	No As
	Supplier Scholastic Sports Sales Softball Batting Helmet w/M	QTY 21	UOM EACH	Unit Price \$39.90	Extended \$837.90 att Sports Air	Supplier Notes / Alternate Description Rawlings Pro Pony Tail Batting Helmet- All Co	Manufacturer		Number 38 Vendor Item	Pack Size	Specified No
	Supplier Scholastic Sports Sales Softball Batting Helmet w/M Tail Port	QTY 21	UOM EACH	Unit Price \$39.90 Strap, Schu	Extended \$837.90 att Sports Air	Supplier Notes / Alternate Description Rawlings Pro Pony Tail Batting Helmet- All Co	Manufacturer olors, Must have NO	SCAE Seal, Pony	Number 38 Vendor Item	Pack Size	No As
39	Supplier Scholastic Sports Sales Softball Batting Helmet w/M Tail Port Supplier Scholastic Sports Sales	QTY 21 Jounted C	UOM EACH Cage Chin UOM EACH	Unit Price \$39.90 Strap, Schu Unit Price \$39.90	Extended \$837.90 Itt Sports Air Extended \$79.80	Supplier Notes / Alternate Description Rawlings Pro Pony Tail Batting Helmet- All Co	Manufacturer plors, Must have NO	SCAE Seal, Pony	Number 38 Vendor Item Number	Pack Size	No As Specified
39	Supplier Scholastic Sports Sales Softball Batting Helmet w/M Tail Port Supplier Scholastic Sports Sales	QTY 21 Jounted C	UOM EACH Cage Chin UOM EACH	Unit Price \$39.90 Strap, Schu Unit Price \$39.90	Extended \$837.90 Itt Sports Air Extended \$79.80	Supplier Notes / Alternate Description Rawlings Pro Pony Tail Batting Helmet- All Co Supplier Notes / Alternate Description Rawlings	Manufacturer plors, Must have NO	SCAE Seal, Pony	Number 38 Vendor Item Number 39 Vendor Item	Pack Size 1 Unit Pack Size 1 Unit Pack	No As Specified No As

43	Women's Narrow Channel TI Rubber Bladder, Spalding	F1000, E	Exclusive Z	K Composi	te Cover 2/Sup	perior Grip and Feel, 100%	Top Grade 2-Ply Nylon Windi	ngs and Butyl	Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
									TF1000		
	Laux Sporting Goods (Laux								LEGACY		
	Sports LLC)	8	EACH	\$52.88	\$423.04		Spalding		WOMENS	1	Yes
	i '	•									
										Unit	
	Women's Wide Channel TF10	000, Exc	lusive ZK	Composite	Cover 2/Super	ior Grip and Feel, 100% To	op Grade 2-Ply Nylon Winding	s and Butyl Rubber	Vendor Item	Unit Pack	As
44	Women's Wide Channel TF10 Bladder, Spalding	000, Exc	lusive ZK	Composite	Cover 2/Super	ior Grip and Feel, 100% To	op Grade 2-Ply Nylon Winding	s and Butyl Rubber	Vendor Item Number		
44		QTY	lusive ZK UOM	Composite Unit Price	Extended	ior Grip and Feel, 100% To Supplier Notes	op Grade 2-Ply Nylon Winding Manufacturer	s and Butyl Rubber Manufacturer #		Pack	As Specified
44	Bladder, Spalding			Unit	Extended	•				Pack	
44	Bladder, Spalding			Unit	Extended	•			Number	Pack	

45					\boldsymbol{A}	THLETICS - BAS	SKETBALL				
46	Write-on, Wipe-off Clipboa	ard, With	Basketball	Court on Fa	ace, 12.5 X 18	3.5			Vendor Item Number	Unit Pack Size	As Specifie
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	12	EACH	\$5.90	\$70.8	0 Martin			46	1	Yes
47	Mark V Basketball Score B	ook, Marl	k V						Vendor Item Number	Unit Pack Size	As Specifie
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	72	EACH	\$4.20	\$302.4	0	Mark V		47	1	Yes
48	Anti-Whip Basketball Nets,	21 Lengt	h, 12 Loop	s, 288 gram Unit					Vendor Item Number	Unit Pack Size	As Specifie
	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	BSN Sports, LLC	33	EACH	\$2.35	\$77.5	5			SNBBN288Y	1	Yes
49	The Slipp Nott, #SS60 Com	plete Set 1	Base Pads	w/60 Sheets					Vendor Item Number	Unit Pack Size	As Specifie
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	6	EACH	\$64.90	\$389.4	0			49	60	Yes
50	The Slipp Nott, #SM60 Rep	lacement	Sheets, Set	t of 60					Vendor Item Number	Unit Pack Size	As Specifie
	Supplier	ОТУ	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	6	PER SET	\$31.90	\$191.4	**			50	60	Yes
51	Spalding ALPHA Football	- Composi	ite						Vendor Item Number	Unit Pack Size	As Specifie

	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	16	EACH	\$70.00	\$1,120.00				SPALDING #726758	1	Yes
53	Rawlings ST5 Official Footb	all, Comp	oosite, Adı	ılt Player, n	nust be Dark B	rown in Color, Rawlings			Vendor Item Number	Unit Pack Size	As Specified
				Unit	Extended	C P N	35 0 1	1 0			
	Supplier	QTY	UOM	Price		Supplier Notes	Manufacturer	Manufacturer #			

54					£	ATHLETICS - FOOT	BALL				
55	Spalding ALPHA Varsity Siz	ze Footba	all, Leather	·, Each					Vendor Item Number	Unit Pack Size	As Specifie
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	79	Each	\$70.00	\$5,530.00				SPALDING #726758	1	Yes
56	Rawlings ST 5 Modified Foot	tball		***					Vendor Item Number	Unit Pack Size	As Specifie
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
					0010.70				7.6	-	37
	Scholastic Sports Sales	13	EACH	\$16.90	\$219.70	Rawlings Edge			56	Unit	Yes
57	Scholastic Sports Sales Web Belts, 60, Specify color,		EACH	\$16.90 Unit		Supplier Notes / Alternate			Vendor Item Number	Unit Pack Size	As
57	Web Belts, 60, Specify color, Supplier		EACH		\$219.70 Extended		Manufacturer	Manufacturer #	Vendor Item	Pack	As
57	Web Belts, 60, Specify color,	Riddell		Unit		Supplier Notes / Alternate Description	Manufacturer Riddell	Manufacturer #	Vendor Item	Pack	As
	Web Belts, 60, Specify color, Supplier Laux Sporting Goods (Laux	Riddell QTY 125	UOM EACH	Unit Price \$1.17	Extended	Supplier Notes / Alternate Description		Manufacturer #	Vendor Item Number	Pack	As Specifie Yes
	Web Belts, 60, Specify color, Supplier Laux Sporting Goods (Laux Sports LLC) Revolution Speed Helmet, XI Supplier	Riddell QTY 125 2, Riddel QTY	UOM EACH	Unit Price \$1.17 Unit Price	Extended	Supplier Notes / Alternate Description		Manufacturer # Manufacturer #	Vendor Item Number FFB Vendor Item	Pack Size	As Specifie Yes
	Web Belts, 60, Specify color, Supplier Laux Sporting Goods (Laux Sports LLC) Revolution Speed Helmet, XI	Riddell QTY 125	UOM EACH	Unit Price \$1.17	Extended \$146.25	Supplier Notes / Alternate Description	Riddell		Vendor Item Number FFB Vendor Item	Pack Size	As Specifie Yes
58	Web Belts, 60, Specify color, Supplier Laux Sporting Goods (Laux Sports LLC) Revolution Speed Helmet, XI Supplier	Riddell QTY 125 A, Riddel QTY 3	UOM EACH I, Each UOM EACH	Unit Price \$1.17 Unit Price No Bid	Extended \$146.25 Extended	Supplier Notes / Alternate Description Supplier Notes	Riddell		Vendor Item Number FFB Vendor Item	Pack Size	As Specifie Yes As Specifie
58	Web Belts, 60, Specify color, Supplier Laux Sporting Goods (Laux Sports LLC) Revolution Speed Helmet, XI Supplier Scholastic Sports Sales	Riddell QTY 125 A, Riddel QTY 3	UOM EACH I, Each UOM EACH	Unit Price \$1.17 Unit Price No Bid	Extended \$146.25 Extended	Supplier Notes / Alternate Description	Riddell		Vendor Item Number FFB Vendor Item Number Vendor Item	Pack Size 1 Unit Pack Size Unit Pack	As Specified Yes As Specified

67	Varsity Rib Vest, Each, Ridd	lell, Ridd	ell						Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Laux Sporting Goods (Laux Sports LLC)	12	EACH	\$26.80	\$321.60		Riddell		CHAMPRO, FR3V	1	No
68	Scrimmage Helmet Cover, O	ne size fi	ts all, Vari	ous Colors					Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	BSN Sports, LLC	13	DOZEN	\$20.31	\$264.03	3			1071948	12	Yes
69	Polyester Practice Pant, Adu	lt Sizes S	5-4XL, PPP	P-Riddell, R	liddell				Vendor Item Number	Unit Pack Size	As Specified
69	Polyester Practice Pant, Adu Supplier	lt Sizes S QTY	3-4XL, PPP UOM	P-Riddell, R Unit Price	Eiddell Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #		Pack	As Specified
69				Unit	Extended		Manufacturer Riddell	Manufacturer #		Pack	
70	Supplier	QTY 24	UOM	Unit Price	Extended	Description		Manufacturer #	Number	Pack	No As
	Supplier Scholastic Sports Sales	QTY 24	UOM	Unit Price	Extended	Description		Manufacturer # Manufacturer #	Number 69 Vendor Item	Pack Size	No As
	Supplier Scholastic Sports Sales Ground Zero Kick Off Tee, 1	QTY 24	UOM EACH	Unit Price \$7.90	Extended \$189.60	Description Champro Supplier Notes	Riddell		Number 69 Vendor Item	Pack Size	No As
	Supplier Scholastic Sports Sales Ground Zero Kick Off Tee, 1 Supplier	QTY 24 QTY 2	UOM EACH UOM	Unit Price \$7.90 Unit Price	Extended \$189.60 Extended	Description Champro Supplier Notes	Riddell		Number 69 Vendor Item Number	Pack Size	No As Specified Yes As
70	Supplier Scholastic Sports Sales Ground Zero Kick Off Tee, 1 Supplier School Health Corporation	QTY 24 QTY 2	UOM EACH UOM	Unit Price \$7.90 Unit Price	Extended \$189.60 Extended	Description Champro Supplier Notes	Riddell		Number 69 Vendor Item Number 32091-PS Vendor Item	Pack Size 1 Unit Pack Size 1 Unit Pack	No As Specified Yes

72	Girdle - 5 Pocket, Nylon/Lyci	ra, Draw	v string and	l elastic wai	istband, Each,	Riddell			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Laux Sporting Goods (Laux Sports LLC)	6	EACH	\$21.42	\$128.52	2	Riddell		MARTIN, FGF6SPA	1	No
73	Triple Play Wrist Coach, Env	velope to	encase pla	y sheet		1		,	Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
					01.40 ((M. C.			73	1	Yes
	Scholastic Sports Sales	46	EACH	\$3.10	\$142.60	Martin			/3	1	1 08
74	Scholastic Sports Sales Placement Tees - 2 Extra Poi				\$142.60	Nartin			Vendor Item Number	Unit Pack Size	As
74					\$142.60 Extended	Supplier Notes	Manufacturer	Manufacturer #	Vendor Item	Pack	
74	Placement Tees - 2 Extra Poi	int, 2754	40 27541-R	iddell Unit		Supplier Notes	Manufacturer	Manufacturer #	Vendor Item	Pack	As
	Placement Tees - 2 Extra Poi Supplier Laux Sporting Goods (Laux	OTY 2	0 27541-R UOM EACH	iddell Unit Price \$2.93	Extended \$5.86	Supplier Notes	Manufacturer	Manufacturer #	Vendor Item Number	Pack	As Specified
	Placement Tees - 2 Extra Poi Supplier Laux Sporting Goods (Laux Sports LLC)	OTY 2	0 27541-R UOM EACH	iddell Unit Price \$2.93	Extended \$5.86	Supplier Notes	Manufacturer	Manufacturer #	Vendor Item Number CHAMPION, KT2/KT3 Vendor Item	Pack Size	As Specified

76						ATHLETICS - GOLF					
77	Titleist NXT Tour Balls								Vendor Item Number	Unit Pack Size	As Specific
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	12	DOZEN	\$31.90	\$382.80	min - 12dz Titleist Velocity (NXT are N/A)			77	12	No
78	Golf Balls, Teams logo and b	all numb	ers (Exam	ole: Red's 1	- 4), Dozen	1			Vendor Item Number	Unit Pack Size	As Specifi
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	10	DOZEN	\$31.90	\$319.00	12dz min - Team Name Only			78	12	Yes
						•					
79	Whiffle Golf Balls								Vendor Item Number	Unit Pack Size	As Specific
79	Whiffle Golf Balls Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #		Pack	
79		QTY	UOM DOZEN		Extended \$22.80	Description	Manufacturer	Manufacturer #		Pack	
79 80	Supplier PYRAMID SCHOOL PRODUCTS (PYRAMID			Price		Description	Manufacturer	Manufacturer #	Number CHAMPION	Pack Size	Yes As
	Supplier PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	10 QTY		Price		Description	Manufacturer Manufacturer	Manufacturer # Manufacturer #	CHAMPION #PLGB	Pack Size	Yes

81						ATHLETICS - LACR	OSSE				
82	Brine Goalie Shin Guards, No	on-Plast	ic, (Lacross	se)					Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Laux Sporting Goods (Laux Sports LLC)	5	PAIR	\$31.90	\$159.50				STX, SGC2	2	No
83	Brine Shoulder Pads (Lacross	se), Larg	ge			1			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	Laux Sporting Goods (Laux Sports LLC)	8	PAIR	\$42.53	\$340.24	1			STX, SP75	2	No
84	Brine Shoulder Pads (Lacross	se), Med	ium						Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	Laux Sporting Goods (Laux Sports LLC)	8	PAIR	\$42.53	\$340.24	L Company			STX, SP75	2	No
86	Brine Gloves (Lacrosse)					1			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	Laux Sporting Goods (Laux Sports LLC)	16	PAIR	\$39.89	\$638.24	1			STX, S75F	2	No

87	Goalie Lacrosse Gloves, Vari	ous Size	s and Color		ıty goalie thur	nb			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Laux Sporting Goods (Laux Sports LLC)	4	PAIR	\$99.23	\$396.92				STX, SHLG	2	No
88	Lacrosse Coach Whiteboard,	L 18.5	x H 13.5 x D	7, Each					Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	5	EACH	\$5.90	\$29.50	Martin			88	1	Yes
89	Padded Goalie Pants - Curre	nt Year	Model, with	n poly mesh	and reinforce	ed waistband, XS-XL	1		Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Laux Sporting Goods (Laux Sports LLC)	2	EACH	\$69.12	\$138.24				STX. GPBR	1	No
90	LaCrosse Yellow Game Balls	- NOCS	SAE, Girls I	_ax					Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	BSN Sports, LLC	32	DOZEN	\$14.86	\$475.52				LXBY	12	Yes
91	Men's Scorebook Lacrosse, B	Brine							Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	13	EACH	\$9.90		Big Red			91		

Supplier PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY) Vomens Brine Lacrosse Sco Supplier Scholastic Sports Sales	QTY 11 rebook, B QTY 11		Unit Price \$8.90	Extended \$97.90	Supplier Notes	Manufacturer	Manufacturer #	CHAMPION #LXBOARD	1	Yes
PRODUCTS (PYRAMID PAPER COMPANY) Vomens Brine Lacrosse Sco	rebook, B	rine		\$97.90					1	Yes
Supplier	QTY		IIn:4							
			TIm:4					Vendor Item Number	Unit Pack Size	As Specified
		UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	1.1	EACH	\$9.90	\$108.90	Big Red	Brine		93	1	No
official Lacrosse Balls - NO	CSAE, Ga	ame - Whit	e e		<u> </u>			Vendor Item Number	Unit Pack Size	As Specified
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
BSN Sports, LLC	53	DOZEN	\$14.86	\$787.58				LXB	12	Yes
TX 4-Sight Plus Goggles, E	ach							Vendor Item Number	Unit Pack Size	As Specified
Supplier	ОТУ	UOM		Extended	Supplier Notes	Manufacturer	Manufacturer #			
Scholastic Sports Sales	24	EACH	\$29.90	\$717.60	~ ~			Not provided	1	Yes
op-Up Lacrosse Goal, 4' x 4	4', Folds u	ıp easily in	to a handy	carrying case				Vendor Item Number	Unit Pack Size	As Specified
Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	3	EACH	\$169.95	\$509.85				BOWNET #BOWLAX4B OX	1	Yes
S S S S S P P P	Supplier SSN Sports, LLC X 4-Sight Plus Goggles, E Supplier Scholastic Sports Sales p-Up Lacrosse Goal, 4' x 4 Supplier PYRAMID SCHOOL PRODUCTS (PYRAMID	Supplier QTY 3SN Sports, LLC 53 EX 4-Sight Plus Goggles, Each Supplier QTY Scholastic Sports Sales 24 P-Up Lacrosse Goal, 4' x 4', Folds upplier QTY PYRAMID SCHOOL PRODUCTS (PYRAMID	Supplier QTY UOM SSN Sports, LLC 53 DOZEN EX 4-Sight Plus Goggles, Each Supplier QTY UOM Scholastic Sports Sales 24 EACH P-Up Lacrosse Goal, 4' x 4', Folds up easily in Supplier QTY UOM PYRAMID SCHOOL PRODUCTS (PYRAMID	Supplier QTY UOM Price 3SN Sports, LLC 53 DOZEN \$14.86 2X 4-Sight Plus Goggles, Each Supplier QTY UOM Price Scholastic Sports Sales 24 EACH \$29.90 p-Up Lacrosse Goal, 4' x 4', Folds up easily into a handy Supplier QTY UOM Price PYRAMID SCHOOL PRODUCTS (PYRAMID	Supplier QTY UOM Price Extended SSN Sports, LLC 53 DOZEN \$14.86 \$787.58 EX 4-Sight Plus Goggles, Each Supplier QTY UOM Price Scholastic Sports Sales 24 EACH \$29.90 \$717.60 P-Up Lacrosse Goal, 4' x 4', Folds up easily into a handy carrying case Gupplier QTY UOM Price Extended P-Up Lacrosse Goal, 4' x 4', Folds up easily into a handy carrying case Unit Price Extended P-YRAMID SCHOOL PRODUCTS (PYRAMID	Supplier QTY UOM Price Extended Supplier Notes SSN Sports, LLC 53 DOZEN \$14.86 \$787.58 EX 4-Sight Plus Goggles, Each Supplier QTY UOM Price Extended Supplier Notes Scholastic Sports Sales 24 EACH \$29.90 \$717.60 P-Up Lacrosse Goal, 4' x 4', Folds up easily into a handy carrying case Supplier QTY UOM Price Extended Supplier Notes Supplier Price Extended Supplier Notes P-Up Lacrosse Goal, 4' x 4', Folds up easily into a handy carrying case Supplier QTY UOM Price Extended Supplier Notes	Supplier QTY UOM Price Extended Supplier Notes Manufacturer 3SN Sports, LLC 53 DOZEN \$14.86 \$787.58 X 4-Sight Plus Goggles, Each Supplier QTY UOM Price Extended Supplier Notes Manufacturer Scholastic Sports Sales 24 EACH \$29.90 \$717.60 P-Up Lacrosse Goal, 4' x 4', Folds up easily into a handy carrying case Supplier QTY UOM Price Extended Supplier Notes Manufacturer Supplier QTY UOM Price Extended Supplier Notes Manufacturer Supplier QTY UOM Price Extended Supplier Notes Manufacturer	Supplier QTY UOM Price Extended Supplier Notes Manufacturer # 3SN Sports, LLC 53 DOZEN \$14.86 \$787.58 XX 4-Sight Plus Goggles, Each XX 4-Sight Plus Goggles, Each Supplier QTY UOM Price Extended Price Scholastic Sports Sales 24 EACH \$29.90 \$717.60 Depuly Lacrosse Goal, 4' x 4', Folds up easily into a handy carrying case Supplier QTY UOM Price Extended Supplier Notes Manufacturer # Supplier QTY UOM Price Extended Supplier Notes Manufacturer # Supplier QTY UOM Price Extended Supplier Notes Manufacturer #	Ficial Lacrosse Balls - NOCSAE, Game - White Supplier QTY UOM Price Extended Supplier Notes Manufacturer Manufacturer Manufacturer Wendor Item Number Vendor Item Number Vendor Item Number Vendor Item Number Supplier QTY UOM Price Extended Supplier Notes Manufacturer Manufacturer Wendor Item Number Supplier QTY UOM Price Extended Supplier Notes Manufacturer Manufacturer Wendor Item Number Vendor Item Number Vendor Item Number Vendor Item Number Supplier Notes Manufacturer Manufacturer Wendor Item Number Vendor Item Number	Supplier QTY UOM Price Extended Supplier Notes Manufacturer Manufacturer IXA 4-Sight Plus Goggles, Each Supplier QTY UOM Price Strended Supplier Notes Manufacturer Manufacturer IXA 4-Sight Plus Goggles, Each Supplier Strended Supplier Notes Manufacturer Manufacturer Manufacturer Size Supplier QTY UOM Price Scholastic Sports Sales 24 EACH \$29.90 \$717.60 Not provided 1 Vendor Item Pack Size Not provided Not provided

97	Goalie Stick - Current Year	Model, E	ach						Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Laux Sporting Goods (Laux			000.00	04.450.40				amy, ayyı a		
	Sports LLC)	14	EACH	\$82.32	\$1,152.48				STX, SH10-CS	5 1	No
98	Champion Sports Adult Scri	mmage V	ests, Set o	f 12, Variou	ıs Colors		1		Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	16	Set	\$26.28	\$420.48				CHAMPION #SVM-(color)	12	Yes
100	Cascade Helmet - Current Y	ear Mode	el, Must ha	ive NOCSA Unit		m, Specify Color			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	10	EACH	\$209.90	\$2,099.00	Cascade XRS			100	1	Yes
101	STX Bucket Ball Bag, Holds	over 6 do	ozen balls				1		Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	6	EACH	\$14.50	\$87.00				CHAMPION #XLB	1	No
102	Official Lacrosse Nets, White	e, knotles	s nylon, m	inimum 5m	m net				Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			

	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	6	ЕАСН	\$50.00	\$300.00				CHAMPION #LN55	1	Yes
103	DVD - 6-Minute Competitive	Drills fo	or LaCrosso		vy, Each		'		Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	2	EACH	\$99.90	\$199.80	Championship			103	1	Yes
	1					1 1					
104	STX Stinger Goalie Chest Pro	otector,	Each			1			Vendor Item Number	Unit Pack Size	As Specified
104		otector,	Each UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #		Pack	

106						ATHLETICS - S	OCCER				
107	Spalding TF-5000 Soccer Ba	II Size 5	Each						Vendor Item Number	Unit Pack Size	As Specifie
107	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #	rumoer	SIEC	Specific
	BSN Sports, LLC	210	Each	\$34.70	\$7,287.00)			WC647929	1	Yes
108	Brine Attack Soccer Ball, Siz	ze 3, 4, 5							Vendor Item Number	Unit Pack Size	As Specifie
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	12	EACH	\$11.05	\$132.60				BRINE "ATTACK"	1	Yes
109	Select Royale Soccer Ball, Fo	or indoor	/outdoor u	se			l		Vendor Item Number	Unit Pack Size	As Specific
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	12	EACH	\$34.90	\$418.80				109	1	Yes
110	Corner Flags, For grass field	l, Set of 4	1						Vendor Item Number	Unit Pack Size	As Specifie
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	7	PER SET	\$33.50	\$234.50				CHAMPION #SCF10	4	Yes

111	Deluxe Corner Flags, 60 H	x 1/2 Flexi	ible Acetat	te Post, Flag	gs 13 Square, S	Set of 4			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	9	SET	\$59.00	\$531.00				CHAMPION #SCF5	4	Yes
112	Adidas Polo Goalkeeping N	umbered .	Jersey, S-X	XXL .		1			Vendor Item Number	Unit Pack Size	As Specifie
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	8	EACH	\$49.90	\$399.20	Select			112	1	No
										Unit	
113	Pop-Up Goals, Approximat	ely: 6 1/2'	W x 3 1/2			T			Vendor Item Number	Pack Size	As Specified
113	Pop-Up Goals, Approximate Supplier	QTY	W x 3 1/2	H Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
113				Unit	Extended \$342.12	BSN Pop Up Soccer Goal - 72" x 48"	Manufacturer	Manufacturer #			
	Supplier	QTY 6	UOM SET	Unit Price \$57.02	\$342.12	BSN Pop Up Soccer Goal - 72" x 48" x 48"	Manufacturer	Manufacturer #	Number		No As
	Supplier BSN Sports, LLC	QTY 6	UOM SET	Unit Price \$57.02	\$342.12	BSN Pop Up Soccer Goal - 72" x 48" x 48"	Manufacturer Manufacturer	Manufacturer # Manufacturer #	Number 1393446 Vendor Item	Size 1 Unit Pack	No As
	Supplier BSN Sports, LLC #SCAB-6 Captain Arm Ban	QTY 6 nds - Any 0	UOM SET Color, For	Unit Price \$57.02 Boys and C	\$342.12 Girls, No Substi	BSN Pop Up Soccer Goal - 72" x 48" x 48" itutes, 6/pkg, Kwik Goal Supplier Notes			Number 1393446 Vendor Item	Size 1 Unit Pack	Specifie No As
114	Supplier BSN Sports, LLC #SCAB-6 Captain Arm Ban Supplier Laux Sporting Goods (Laux	QTY 6 nds - Any 0 QTY X 16	UOM SET Color, For UOM PACK	Unit Price \$57.02 Boys and C Unit Price \$11.90	\$342.12 Girls, No Substite Extended	BSN Pop Up Soccer Goal - 72" x 48" x 48" itutes, 6/pkg, Kwik Goal Supplier Notes	Manufacturer		Number 1393446 Vendor Item Number CHAMPION,	1 Unit Pack Size	No As Specified No As
114	Supplier BSN Sports, LLC #SCAB-6 Captain Arm Ban Supplier Laux Sporting Goods (Laux Sports LLC)	QTY 6 nds - Any 0 QTY X 16	UOM SET Color, For UOM PACK	Unit Price \$57.02 Boys and C Unit Price \$11.90	\$342.12 Girls, No Substite Extended	BSN Pop Up Soccer Goal - 72" x 48" x 48" itutes, 6/pkg, Kwik Goal Supplier Notes Supplier Notes / Alternate Description	Manufacturer		Number 1393446 Vendor Item Number CHAMPION, CAP(SET/6) Vendor Item	1 Unit Pack Size 6 Unit Pack	No As Specified

116	Eurosport - Adidas Tourna	nent Ball	Bag, Carr	y Handle an	d Shoulder St	rap, Includes Pocket to Hold Bal	ll Pump, Hold 15 - size 5	balls	Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	8	EACH	\$22.90	\$183.20	Select			116	1	No
117	5MM Soccer Net-State Colo	or							Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	3	PAIR	\$149.90	\$449.70	Kwik Goal 0050A	Manufacturer	Manufacturer #	117 (1PR)	1	Yes
	Scholastic Sports Sales	3	171110	ψ1 17.70	ψ112.70	TWIR Godi 005071			117 (1110)	1	103
118	ADI-Grip First Goal Keepe	r Gloves,	Specify Siz	e					Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	6	PAIR	\$18.90	\$113.40				118 (pr)	1	No
119	Goalie Glove KPR012 Size		HOM	Unit	Extended	Supplier Notes / Alternate	75 6 4	7. 6	Vendor Item Number	Pack Size	As Specified
	Supplier Scholastic Sports Sales	QTY 5	UOM PAIR	Price \$18.90	\$94.50	Description Solvet	Manufacturer Brine	Manufacturer #	119	1	No
	Scholastic Sports Sales	3	FAIK	\$10.90	\$94.30	Sciect	Dillic		119	1	INO
120	Goalie Glove KPR012 Size	7, Brine		,					Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	6	PAIR	\$18.90	\$113.40	Select	Brine		120	1	No
121	Soccer Score Book, For Boy	s and Gir	ls, 20 Gam	es w/extra p	oage for Seaso				Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	43	EACH	\$5.10	\$219.30	Big Red	Brine		121	1	No

122	Dry Erase Soccer Clipboard								Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	9	EACH	\$5.90	\$53.10	Martin			122	1	Yes
123	Twin City Soccor Socks, Full	Foot, B	lack, Red,						Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
				Ø1 00	¢5(7,00	Pear All Sport			123	1	Yes
	Scholastic Sports Sales	300	PAIR	\$1.89	\$367.00	rear An Sport			123	Unit	1 63
124	Scholastic Sports Sales Diadora Practice Vest, Mode				\$367.00	Fear All Sport			Vendor Item Number	Unit Pack Size	As
124					Extended	Supplier Notes	Manufacturer	Manufacturer #	Vendor Item	Pack	
124	Diadora Practice Vest, Mode	1 992560 QTY	, Neon Yel	low, Each		Supplier Notes	Manufacturer	Manufacturer #	Vendor Item	Pack	As
	Diadora Practice Vest, Mode Supplier Laux Sporting Goods (Laux Sports LLC)	1 992560 QTY 50	, Neon Yel UOM EACH	low, Each Unit Price \$5.95	Extended \$297.50	Supplier Notes		Manufacturer #	Vendor Item Number	Pack	As Specified
	Diadora Practice Vest, Mode Supplier Laux Sporting Goods (Laux Sports LLC)	1 992560 QTY 50	, Neon Yel UOM EACH	low, Each Unit Price \$5.95	Extended \$297.50	Supplier Notes		Manufacturer #	Vendor Item Number SELECT, 68935	Pack Size	As Specified No

126					ATHLETICS - SWIM					
127	Swim Finns, Assorted Sizes				1			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	Unit UOM Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	18	PAIR \$17.9	0 \$322.20	Better Times			127	1	Yes

						ATHLETICS - TENNIS	<u> </u>				
129	Heavy Duty Balls Yellow, Do	zen							Vendor Item Number	Unit Pack Size	As Specifie
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	Laux Sporting Goods (Laux Sports LLC)	2	DOZEN	\$12.32	\$24.64				D U N LOP, 601349(DZ)	12	No
130	Penn Tennisballs Extra Duty.	, USTA	Certified						Vendor Item Number	Unit Pack Size	As Specifie
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	52	DOZEN	\$13.20	\$686.40				PENN #521001	12	Yes
	Scorekeeper Unit, Clamps eas Numbers: 7 x 4, Each	sily to ar	ny size tenni	s post. Tra	icks both game	es sets won., Steel, 16. Comes with a sv	wivel base., Set num	nbers: 5 x 3, Game	Vendor Item Number	Unit Pack Size	As Specifie
	Supplier	0.777		Unit	Extended	Supplier Notes					
	**	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	4	EACH	Price \$84.95	\$339.80		Manufacturer	Manufacturer #	GAMMA #CSPPR	1	Yes
132	PYRAMID SCHOOL PRODUCTS (PYRAMID	4	EACH	\$84.95	\$339.80		Manufacturer	Manufacturer #		1 Unit Pack Size	Yes As Specifie
132	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	4	EACH	\$84.95	\$339.80		Manufacturer Manufacturer	Manufacturer #	#CSPPR Vendor Item	Pack	As

133	Foam Tennis Ball, Each								Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	12	EACH	\$1.35	\$16.20				CHAMPION #RS27	1	Yes
135	Pro Tennis Net, Regulation I	Net 42' x	39			<u> </u>			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	4	ЕАСН	\$86.95	\$347.80				CHAMPION #T2	1	Yes
136	Tennis Center Strap, 2 Nylor	n Webbir	ng			I.			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	BSN Sports, LLC	2	EACH	\$3.95	\$7.90	Macgregor Center Strap			MTCSTRAP	3.95	Yes
	BSN Sports, LLC										1
137	Coaches Cart Ball Hopper, I	Holds 250) Balls, 4 ra	ıbber whee	ls, 25 lbs				Vendor Item Number	Unit Pack Size	As Specified
137		Holds 250) Balls, 4 ru	ubber wheel Unit Price	ls, 25 lbs Extended	Supplier Notes	Manufacturer	Manufacturer #		Pack	As Specified

141						ATHLETICS - TRA	1CK				
142	Relay Batons-State Color, A	luminum	Batons, Ro	ll Rim, Bla	ick, Blue, Gol	d, Green, Red or Silver			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	BSN Sports, LLC	1	DOZEN	\$18.84	\$18.8	4			aalbat	1	Yes
143	Pyramid Spikes 3/8, 100/Pkg	J							Vendor Item Number	Unit Pack Size	As Specifie
	Supplier Scholastic Sports Sales	QTY	UOM PKG	Unit Price \$7.90	Extended \$55.30	Supplier Notes	Manufacturer	Manufacturer #	143	100	Yes
144	Pyramid Spikes 1/4, 100/Pkş	2				1	1		Vendor Item Number	Unit Pack Size	As Specifie
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	4	PKG	\$7.90	\$31.60	0 Gill			144	100	Yes
145	Pyramid Spikes 1/8, 100/Pkg	2							Vendor Item Number	Unit Pack Size	As Specifie
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	4	PKG	\$7.90	\$31.60	0 Gill			145	100	Yes
146	3/16 Needle Spike, 100/Pkg					1	1		Vendor Item Number	Unit Pack Size	As Specifie
	Supplier Salada Salada Salada	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #	146	100	V.
	Scholastic Sports Sales	17	PKG	\$7.90	\$134.30	U GIII			146	100	Yes
147	Pyramid Spikes 1/2, Bag of 1	100				1	1	1	Vendor Item Number	Unit Pack Size	As Specifie

	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	6	BAG	\$7.90	\$47.40	Gill			147	100	Yes
148	High Jump Cross Bar, Comp	etition (Crossbar, 1	3' 1 1/2					Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	BSN Sports, LLC	3	EACH	\$115.00	\$345.00				AFHJ1500	1	Yes
149	Pole Vault Cross Bar, 14'10,	Each							Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	BSN Sports, LLC	3	EACH	\$135.00	\$405.00				AFPV1500	1	Yes
150	Aluminum Hurdle, Elite, Me	ets IAAl	F Specificat	ions and NO	CAA Rule 2-2-	-1, Adjustable to 5 Heights 30, 33,	36, 39 42		Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	MFAC, LLC (M-F ATHLETIC)	8	EACH	\$275.00	\$2,200.00				6622-Color	1	Yes
151	Stop Watch Accu-Split #725								Vendor Item Number	Unit Pack Size	As Specified
				Unit	Extended	Supplier Notes / Alternate	7.5				
	Supplier Laux Sporting Goods (Laux	QTY	UOM	Price	2310011404	Description	Manufacturer	Manufacturer #			

152	T-Handle Spike Wrench								Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Laux Sporting Goods (Laux Sports LLC)	6	EACH	\$10.98	\$65.88				GILL, 846	1	Yes
153	Maintenance Rake 36								Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	BSN Sports, LLC	6	EACH	\$34.33	\$205.98				1196245	1	Yes
155	High School Boys Throws Va	luepack,	Discus, Ca		ot, Carrier				Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	MFAC, LLC (M-F										
	ATHLETIC)	2	Set	\$225.00	\$450.00				6004-99	1	Yes
156	Girls Throws Valuepack, Disc	cus, Cast	Iron Shot						Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	MFAC, LLC (M-F ATHLETIC)	2	Set	\$199.00	\$398.00				6003-99	1	Yes
157	Measuring Tape Kit w/case, 1	- #988 (3	300'/90m),		00'/30m), 1- #9	84 (50'/15m).			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Laux Sporting Goods (Laux	2	EACH		¢177.40				CILL 002	1	No
	Sports LLC)	2	EACH	\$88.70	\$177.40				GILL, 982	1	No
158	Seiko 149 Stopwatch Printer		1			1		1	Vendor Item Number	Unit Pack Size	As Specifie

	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	11	EACH	\$359.00	\$3,949.00				SEIKO #S149	1	Yes
159	Refill Paper for Seiko Stopwa		inter 5 Poll		. ,				Vendor Item Number	Unit Pack Size	As Specified
137	Supplier Seiko Stopwa	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #	rumber	SIZC	Specifica
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	3	вох	\$8.99	\$26.97				SEIKO #S950	5	Yes
161	 Directional Flag, Specify Colo	or: Red,	Yellow, Bl	ue, Each		l.			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Laux Sporting Goods (Laux Sports LLC)	27	ЕАСН	\$10.33	\$278.91				G ILL, 96x01, FLAG ONLY(SPECI FY	1	No

164					A'	THLETICS - VOLLE	YBALL				
165	Tachikara Hammock Style	Ball Cart,	With nylo	n carry bag	<u> </u>				Vendor Item Number	Unit Pack Size	As Specifie
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	1	ЕАСН	\$90.00	\$90.00				TACHIKARA #BC-HAM	1	Yes
166	Tachikara Collapsible Ball (Cart							Vendor Item Number	Unit Pack Size	As Specifie
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	4	ЕАСН	\$90.00	\$360.00				TACHIKARA #BIK-SP	1	Yes
167	Tachikara SV-5W Gold Off	icial Volle	eyball			I	1	l .	Vendor Item Number	Unit Pack Size	As Specifie
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	[ALT1] School Health Corporation	6	EACH	\$29.92	\$179.52	YELLOW			33014-PS	1	Yes
168	Spalding VB5 Series Volley	ball, Leath	ner cover,						Vendor Item Number	Unit Pack Size	As Specifie
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Laux Sporting Goods (Laux								TFVB5(SPECI		

169	Kneepads, Black or White, W	ide Cus	hion Foam	Pad, 9 1/2 I	Front Sleeve L	ength			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	15	PAIR	\$7.90	\$118.50				169	1	Yes
170	Volleyball Scorebook, 1 Game			Unit	nat, Official V Extended				Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manufacturer #	DIG DED		
	Laux Sporting Goods (Laux Sports LLC)	12	EACH	\$4.49	\$53.88				BIG RED, 5020	1	No
171	Volleyball Clipboard								Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	4	EACH	\$5.90	\$23.60	Martin			171	1	Yes
172	Net Height Measuring Chain,	Measu	res Mens o	1	leights				Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	BSN Sports, LLC	1	EACH	\$8.59	\$8.59				1238778	1	Yes
	Volleyball Net - Technora HM covers, sideline markers, woo		_	_		orced with rubber., Net-Locks for tig with each net., Each	htening the bottom ro	ppe, Net-Lock	Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Onit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	3	EACH	\$590.00	\$1,770.00				173	1	Yes
	Tandem Sport Antennae, Madand case	de of du	rable glass		ps attach to bo	oth the top and bottom of net, Each so	et includes two red an	d white antennae	Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
1	Scholastic Sports Sales	4	Set	\$57.90		Tandem		+	174	2	Yes

4						THE ETICS WI	POTLING				
175				,	A	THLETICS - WR	RESTLING			_	
176	Mat Cleaner								Vendor Item Number	Unit Pack Size	As Specific
170	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #	- Tvarioci	Size	Specific
	Scholastic Sports Sales	29	GALLO N	\$44.90	\$1,302.10)			176	1	Yes
177	Mat Kleen Disinfectant, Cran	ner				1	l .		Vendor Item Number	Unit Pack Size	As Specific
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	20	GALLO N	\$44.90	\$898.00		Cramer		177	1	Yes
179	Tornado Head Gear, PowerT	aba Stra	apping Syste	em. Variou	ıs Colors		I		Vendor Item Number	Unit Pack Size	As Specific
-	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	32	EACH	\$26.20	\$838.40				CLIFF KEEN #F5	1	Yes
180	Ankle Bands, 14 long, Green/	Red or I	Blue/Red						Vendor Item Number	Unit Pack Size	As Specific
	Supplier	ОТУ	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #	CLIFF KEEN,		
	Laux Sporting Goods (Laux	_									

181	Wrestling Aids Nasal Plugs	s							Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Laux Sporting Goods (Lau	ıx							MUELLER,		
	Sports LLC)	14	PKG	\$12.73	\$178.22				191221	300	No
182	Head Gear, Cliff Kleen - A	ny Color							Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Laux Sporting Goods (Lau	ıx									
	Sports LLC)	44	EACH	\$24.30	\$1,069.20				Cliff Keen, E58	3 1	No
										Unit	
183	Asic Gel Knee Pads Black/	White, Asi	c						Vendor Item Number	Pack Size	As Specified
183	Asic Gel Knee Pads Black/ Supplier	White, Asic	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
183						Supplier Notes Sold In Eaches (8.90 ea.)	Manufacturer Asic	Manufacturer #			
	Supplier	QTY	UOM	Price				Manufacturer #	Number	Size	Yes As
	Supplier Scholastic Sports Sales Score Book, Cliff Keen	QTY 16	UOM PAIR	Price \$17.80		Sold In Eaches (8.90 ea.) Supplier Notes / Alternate	Asic		Number 183 Vendor Item	Size 2 Unit Pack	Yes
	Supplier Scholastic Sports Sales	QTY	UOM	Price \$17.80	\$284.80 Extended	Sold In Eaches (8.90 ea.)		Manufacturer # Manufacturer #	Number 183 Vendor Item	Size 2 Unit Pack	Yes As
185	Supplier Scholastic Sports Sales Score Book, Cliff Keen Supplier	QTY 16 QTY 21	UOM PAIR UOM	Price \$17.80 Unit Price	\$284.80 Extended	Sold In Eaches (8.90 ea.) Supplier Notes / Alternate Description	Asic Manufacturer		Number 183 Vendor Item Number	Size 2 Unit Pack	Yes As Specified Yes As
185	Supplier Scholastic Sports Sales Score Book, Cliff Keen Supplier Scholastic Sports Sales	QTY 16 QTY 21	UOM PAIR UOM	Price \$17.80 Unit Price	\$284.80 Extended	Sold In Eaches (8.90 ea.) Supplier Notes / Alternate Description	Asic Manufacturer		Number 183 Vendor Item Number 185 Vendor Item	2 Unit Pack Size 1 Unit Pack	Yes As Specified Yes
185	Supplier Scholastic Sports Sales Score Book, Cliff Keen Supplier Scholastic Sports Sales Mat Straps, 2W x 114L, Ea	QTY 16 QTY 21 ach	UOM PAIR UOM EACH	Unit Price \$4.90	\$284.80 Extended \$102.90	Sold In Eaches (8.90 ea.) Supplier Notes / Alternate Description Cliff Keen Supplier Notes	Asic Manufacturer Cliff Keen	Manufacturer #	Number 183 Vendor Item Number 185 Vendor Item	2 Unit Pack Size 1 Unit Pack	Yes As Specified Yes As

187	Mat Tape 4 X 84'								Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	BSN Sports, LLC	47	ROLL	\$6.24	\$293.28	_			6406XXXX	1	Yes
188	Gorilla Grip Mat Tape, 4 x 8	4'				1			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	209	ROLL	\$11.50	\$2,403.50				CLIFF KEEN #T97-4	1	Yes
189	Impact Bubble Knee Pad, Hi	gh Impa	ct Protection	on, Black, S	carlet, Navy				Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	15	EACH	\$8.50	\$127.50				CLIFF KEEN #BK64	1	Yes

190					ATH	ILETICS - MISCEI	LLANEOUS				
191	Sponge Master Rol-Dri Uni	t w/ Masto	er Roller						Vendor Item Number	Unit Pack Size	As Specifie
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	BSN Sports, LLC	2	EACH	\$67.41	\$134.82				MTRDMSTR	1	Yes
192	Line-up Cards-NCR 3 copy	paper, 25	/package,	5802004					Vendor Item Number	Unit Pack Size	As Specifie
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	18	PKG	\$3.90	\$70.20	Big Red	5802004		192	25	Yes
193	Team Equipment Bag - Blac								Vendor Item	Unit Pack	As
				Unit	Extended	Complian Nation	Manufacturum	M	Number	Size	
	Supplier PYRAMID SCHOOL	QTY	UOM		Extended	Supplier Notes	Manufacturer	Manufacturer #	Number		
	Supplier			Unit	Extended \$58.50		Manufacturer	Manufacturer #	l I		
	Supplier PYRAMID SCHOOL PRODUCTS (PYRAMID	QTY 3	UOM EACH	Unit Price \$19.50	\$58.50		Manufacturer	Manufacturer #	Number CHAMPION		Yes As
	Supplier PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY) Ball Bag - Baseball/Softball Supplier	QTY 3 , Heavy D	UOM EACH uty Nylon UOM	Unit Price \$19.50 Reinforced Unit Price	\$58.50 Vinyl, Holds 4 Extended	18 Baseballs or 24 Softballs Supplier Notes	Manufacturer Manufacturer	Manufacturer # Manufacturer #	CHAMPION #DB1000BK Vendor Item Number	Size 1 Unit Pack	Yes As Specifie
	Supplier PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY) Ball Bag - Baseball/Softball	QTY 3	UOM EACH uty Nylon	Unit Price \$19.50 Reinforced Unit	\$58.50 Vinyl, Holds 4	18 Baseballs or 24 Softballs Supplier Notes			CHAMPION #DB1000BK	Size 1 Unit Pack	Yes As
194	Supplier PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY) Ball Bag - Baseball/Softball Supplier	QTY 3 Heavy D QTY 5	UOM EACH uty Nylon UOM	Unit Price \$19.50 Reinforced Unit Price	\$58.50 Vinyl, Holds 4 Extended	18 Baseballs or 24 Softballs Supplier Notes			CHAMPION #DB1000BK Vendor Item Number	Size 1 Unit Pack	Yes As Specifie

											$\overline{}$
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	28	PKG	\$3.35	\$93.80				CHAMPION #TC9-4	4	Yes
196	Game Clock, Table Top, Cha	ampion							Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	4	ЕАСН	\$14.35	\$57.40		Champion		CHAMPION #DC100	1	Yes
197	Travel Cleat Cleaner, 15 x 1	1 1/2					I		Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	2	ЕАСН	\$16.70	\$33.40				CHAMPION #FCCR	1	Yes
	Jumbo Mesh Ball Carrier, H Soccerballs	Vendor Item Number	Unit Pack Size	As Specifie							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	17	EACH	\$3.69	\$62.73				CHAMPION #MB25-(color)	1	Yes
200	Steel Umpire Indicator								Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			

PYRAMID SCHOOL PRODUCTS (PYRAMID						CHAMPION		
PAPER COMPANY)	4	EACH	\$3.25	\$13.00		#SI	1	Yes

201	Baseball/Softball Scorebook	, NFHS, S	tandard S	ize, 30 Gan	ne Scorebook w	v/16 Batting Positions and 9 Innings	per Sheet, Peterson Sco	re Master	Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	22	EACH	\$3.10	\$68.20		Peterson Score Master		201	1	Yes
202	Colored Mouthguards - Stra	pless, Ad	ult						Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	30	EACH	\$0.30	\$9.00				202	1	Yes
203	Water Bottle Carrier, Wire	coated car	rrier, carr		es, Each, Goph	er #66-543	1		Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	3	EACH	\$7.95	\$23.85				CHAMPION #WBC	1	Yes
204	Water Bottles - 32oz Plastic,	Durable	Plastic wit	th push/pull	I ton squirt ons	. Set of 6			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes / Alternate Description	Manufacturer	Manufacturer #			
	Laux Sporting Goods (Laux Sports LLC)	24	SET	\$2.97	\$71.28				MARTIN WQ32	6	Yes
205	Heavy Duty Mesh Bag, Dray	wstring C	losure w/S	pring Lock	., 24 X 36, State	e Color			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	18	EACH	\$2.75	\$49.50				CHAMPION #MB21-(color)	1	Yes

206	Ultrak 495 Ultra Deluxe Sto	Vendor Item Number	Unit Pack Size	As Specified							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	4	EACH	\$26.92	\$107.68				206	1	Yes
207	Premier Scrimmage Vests, N	Nylon Mes	sh, Specify						Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	24	EACH	\$2.20	\$52.80	**ONE-SIZE-FITS-ALL**			CHAMPION #SVM-(color)	1	No
208	Adult Practice Vest - Pinnie	s, Various	Colors	Unit			,		Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	BSN Sports, LLC	2	EACH	\$0.95	\$1.90				c46	1	Yes
	Power Air Compressor, 120		Vendor Item Number	Unit Pack Size	As Specified						
209	<u> </u>			Unit	Extended						
209	Supplier	QTY	UOM	Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
209		_	UOM EACH		\$347.05	**	Manufacturer	Manufacturer #	CHAMPION EP1500	1	Yes
	Supplier Laux Sporting Goods (Laux			Price		**	Manufacturer	Manufacturer #		1 Unit Pack Size	As
	Supplier Laux Sporting Goods (Laux Sports LLC)			Price		Supplier Notes	Manufacturer	Manufacturer #	EP1500 Vendor Item	Pack	

211	Speed Chute, Adjustable wai	Vendor Item Number	Unit Pack Size	As Specified							
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	School Health Corporation	6	EACH	\$18.13	\$108.78				54202-PS	1	Yes
212	Locker Room Towels-White,	20 x 40	White 5 lb.			1			Vendor Item Number	Unit Pack Size	As Specified
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	Scholastic Sports Sales	20	DOZEN	\$13.90	\$278.00				212	12	Yes
213	Whistle, Color-Black, Dozen		Vendor Item Number	Unit Pack Size	As Specified						
	Supplier	QTY	UOM	Unit Price	Extended	Supplier Notes	Manufacturer	Manufacturer #			
	PYRAMID SCHOOL PRODUCTS (PYRAMID PAPER COMPANY)	4	DOZEN	\$4.32	\$17.28				CHAMPION #601	12	Yes